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() @UE - 31 / SECTION - A

bl a’iﬁﬁﬁml Objective Type Questions
UvT G 1 & 70 aF % TAE U9 % Gy IR ey feu 7u § form @ vk w81 379 grt
g T3 TE fascq & OMR vfiz 7 et a1 S die wiee U A Rifad #1 | gt 40 9971
& IW Gl 40 x 1 =40

Question Nos. 1 to 70 have four options, out of which only one is correct. You
have to mark your selected option, on the OMR Sheet with blue/black

ballpoint pen only. Answer any 40 questions. 40x 1 =40
| frdl de #1949 61 & W o 9 @) WA 27 99T A9hA 32 TH &idl 8, dl
e #
(A) 1579 4B 1679
(C) 1569 (D) 1689
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(A) 1572

(C) 1569

(B) 1679

(D) 1689

m@ﬁmmwmmﬂﬁamwwmg

(A) 2

(€) 3

HCF of the smallest prime number and the smallest compo

number is

a2

(S5

B) 1

(D) 4

(B) 1

(D) 4

site




c 3 EB (D) 4

b P
=

3. ® QA qU TS IE o 3R b F R, b A o F WA P W A
F-'@Tiq?ﬂl'l rOTH BIdl & 5@l 0<r <b @l a= . :

(A) gr+b (B) gr—-b

M+r (D) bg-r

For any two given positive integers a and b, there exist unique whole

numbers g and r where O <r < b, when ais divided by b, then a =

(A) gr+b (B) gr-b




(110 ]
4 156 % TS UHEYS R

(A) 2x3x7x13 (B) 52 x 3 % 13
(C) 2x3%x13 (D) 2x3x7x11
Prime factors of 156 are

(A) 2x3x7x13 B) 2% x3x13

C) 2x3%x13 (D) 2x3x7x11

G __'“Aé




(H] . N NJF 7 L] L] x <

o
[ 0243 |
\ _!

(C) 2x3°xT18 (D) 2x3x7x11
5. aﬁamaﬁsofsaen%"/mnoao9éeﬁmaoao%

(AT 22338 (B) 23338
(C) 22238 (D) 23238
If HCF of two numbers 306 and 657 is 9 then their LCM is
(A) 22338 (B) 23338
(C) 22238 (D) 23238

6 Frmifea § S URE G R ?




(A] 22338 =

0305 |

(C) 22238 (D) 23238

6 Freifed § w1 TREd G R ?

(A) V2 B) 3
C) J7 | _)(B)/ Jo
Which of the following is a rational number ?

(A) V2 B) V3

C) J7 (D) V9
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7 g GE - 1 quEd §9 8

(B) arEra el
(D) il @ HIg A8

(A) 3Td

Q) §Td

Decimal form of rational number % 1S

(A) non-terminating (B) non-terminating repeating

el - |




\n] TIOUIL COT ITITTITXCIT 5 7

T
4

0325,

(C) terminating (D) None of these
8. ¥gIE 3x?+5x-2 % IS B

@A) =,2 B

L
3!

1 i
JQ/—§,2 (D) 3,=2

Zeros of the polynomial 3x%+5x—-2 are

A) =,2 Bl e 2

L
3




5) - O

| & i
©) -3.2 1)) n=?
9. WgYE x2+7x+10 % YA B ATHA @
(a) 7 - (B) 17

ey =7 (D) - 10

X/QTR/473
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&Y G EI

(C) 5 s (D) - 10

10. WgUE 3x° - x-4 ¥ ! B IHBA &

SBrec

w|H

®) 3

© % D) -3

Product of the zeros of the polynomial 3x2-x—-4 is




[110]

12, n 8
(A) UH QUIieh
(C) uH RHT g&
T 1S

(A) an integer

(C) a rational number

(B) a prime number

(D) an irrational number




[A]  &IT ITIITCRCT T
J'.‘/)- 3 a"\ \
[ 0405 ]

(C) a rational number (D) an irrational number

13. f=iferd § forueht qomels T@R 47d & ?
A o1 B 55

©) = | D 2

WHich of the follo'wing has a terminating decimal expansion ?

A 5T (B) =




S w0
23 25
© o= _ D) 75

14. IfC p(x)=x?-2x-3 @ p(-1)=

(A) -4 (B) 4
©) 1 P
X/QTR/473
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(At
(€) 1 (D) O

5. aﬁ%‘éﬁa@a%w—zam—sﬁ?ha@a%
(A) x% -5x-6 - (B) x2 +5x—6

(C) x?-5x+6 . Py x*+5x+6

If— 2 and — 3 are the zeros of a certain polynomial, then the

polynomial is

(A) x*-5x-6 - (B) x2 +5x—6




(A) x* ABx -6 (B) x2+5x-6

(C) x2-5x+6 (D) x2+5x+6

16. s ABC #,ZABC = 90° ql sin ZBAC =

e AB
M B 2c

BC
AB

AC

) BC

(D)

In triangle ABC, LABC = 90°, then sin £ZBAC =

Be ' o AB

—




(110 ] s

\

17. Fsivhydi 313‘11?1 cos 0 =

T
GL|
(A) = BT el
A G
©) mur (D) Fem

Trigonometrical ratio cos 0 =

A Perpendicular . B) Base
(A) Hypotenuse Hypotenuse

- | 1 I " ATAATRAIN AR NN




Perpe’ﬁéﬁ'cular _ D) Hypotenuse

(€)

Base Base
18, Fieifen 3~ e R 2
(A) secH (B) cosec 0
_(Cf " tan 6 (D) cot 6
Which of the following is equal to Perpg‘:iiecular ?

(A) sec® (B) cosec 6




(A) sec 6 gm (B) cosec 6

MR O05:1588 !

(C) tan o (D) cot©

19. ﬁwmﬁaﬁqm%mqﬁ%?

(A) sin 6 . cosec 0 (B) cos 0. seco
(C) tan @ . cot @ _(D)y"sin 0 . tan 6
X/QTR/473
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(A) sin 0. coscCU —
AT TR
0525

(C) tan 0 .ot 0 (D) sin 0 . tan 0

Ho. Rr=ifea § ®F g6 H T 2 ?

(A) sin? 0—cos? 0 (B) cos? 0 _sin? 0
(C) sec? 0+tan? 0 MésecQO —cot? 0

Which of the following is equal to unity ?

(A) sin?0 —cos? 0 (B) cos? G—sin2 0

- Y 3Pl (D) cosec29-—cot29




(C) sec? G;E,tan2 0 (D) cosec20—cot* 6

g

21. 3Ife cos@=1—53— A cosec O =

(A)

ol

;:;E
E
ol

& 5’ E
If cosO= 13’ then cosec 6



0541

[ 110 |
P2 II% sin 0 = cos O q o=

(A) 30° By 45°
(C) 60° (D) 90°
If sin 6 = cos 0, then 0 =

(A) 30° (B) 45°

e W -\ ratals]



A 30 @ (B) 45°

(C) 60° | (D) 90°
23, T g T ¥ A AT e e 2

(A) W= (B) 3R

ey % (D) wfexsT

In a right angled triangle, the side opposite to right angle is said to be

(A) perpendicular (B) base

(™ hinrnataniica M +mmadian



//‘-‘\\ﬁ* . . .
In a right @ngled triangle, the side opposite to right angle is said to be

(A) perpendicular (B) base
(C) hypotenuse | (D) median
24. sin 30° =
a2 (B) —=
2 V2
(C) %5- (D) 715_



(110
hG. EHHT e wEy T8l U HeEddl 8
_(BY VI
(D) HHGHTSI

(A) TR

(C) &=

. .. - wieht anoled triangle is said to be



n7. TAHThd A 311\4 QS TTRET TAYT Tar T s

0626

(A) 3, 4,K§/ B) 5,12,13
(C) 20,21, 29 _{DYy7,24, 26
Which of the following is not a Pythagorean triplet ?
A) 3,4,95 (B) 5,12, 13
(C) 20,21, 29 (D) 7, 24,26

28. Wmmm%ﬁgﬂﬁmﬁﬂ%?

m\ TOed® A



(B) 5,12, 13

(c) faumaTg A W A
——Pythagoras-theorem :s related to which type of triangle ?

(A) Equilateral A (B) Isosceles A



(110
29, %xﬁﬁgamscﬁ b g - e frsfa & @ ?

(A) AB (B) BC

_(cycaA (D) @ HIE TR

In a triangle ABC, b represents which of the following sides ?

(A) AB (B) BC

(C) CA (D) None of these



(A) AB gm (B) BC

(C) CA (D) None of these

30. Sirl2 60° +C082 30° =

- 3

A 5 /(Bi/?z‘
3

S D) %

31. fag (3,-4 ) fry vquiv § R R ?



-\.

a1 @
(C) II

T - Ptk
(A) (-1,1)

_&17(0,0)

X/QTR/473
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(B) (0, 1)
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@A) (-1, 1)gn o

| 0726

Q (0,0 D) (0,1)
33, & fag ¥ f9g (5, 12 ) &l B

Ay 13 P (B) 17 5%

(C) 5T (D) 12 5T

Distance of the point (5, 12) from the origin is

RY 17 unit



(A) (3,95) (B) (4,6)
O (4,5) D) (3,6)

The coordinates of the ends of a diameter in a circle are (

(5.6 ). Then coordinates of its centre are

3,4 ) ar



—
(A) (3,5) @i-‘?;! B) (4,6)

C) (4,95) (D) (3,6)

36. Tagafl (x, y) T (-x,-y)F A gh 2

A) yx%+y? - = P

C) 4y x%+y> (D) 2y x%-y°

Distance between the points (x, y) and (- x, — y) is



A) x%+y’am (B) 2\/ x2 +y?

0815

"’
(C) 4y x2+y> (D) 2y x2-y2

37. x-AY T fRq {ohHi fog 1 =H9s €9 2t 2

4) (0, x) BT (%, 0)
1 1
© (L0 ® (0,1

X/QTR/473



5 W < e

38. %Hagvﬁﬁgammm#ﬁwéﬁﬁ?

(A) I (B) II

(C) III | Dy 1V

In which quadrant is abscissa positive but ordinate negative ?

(A) I (B) II

(C) 1II | | (D) IV



In which q

.‘J’J—;x\
[Berora )
0838

(A) 1 (B) II
(C) III B (D) IV
39. sﬁﬂ‘f(o,O),(s,O)aaT(oA)ﬂaéfﬁﬂaﬁqﬂfhﬁ%
A) 7 R0
C) S - (D) 60

The perimeter of the triangle formed with vertices ( O, 0 ),

(0,4)1s

(3,0)an



The distaneeof the point ( 3, 5) from X-ax1S 1S

(A) 3 (B) 5

@ (D) 11
41.?:rﬁﬁagaﬁ(—a,b)am(l,b+4)ﬁfﬁﬁﬁmﬁ>(@r@“3a?ﬂmﬁ?

fams (-1, 1) &, @ bH 7 &

AR -1 - (B) 1

(C) 2 (D) O

If (- 1, 1) is the mid-point of the line segment joining the pc



B

S
(C) 8 @J’ (D) 11
41.Eﬁ%%@aﬁ(—a,b)am(l,b+4)a$lfhﬂﬁa1ﬁ%@1@3é?ﬂw%@

fRms (- 1, 1) &, @ b M @

A -1 - B) 1
€) 2 (D) O

If (- 1, 1) is the mid-point of the line segment joining the poi
(-3, b)and (1, b+4), then the value of b is

(AY —1 (Bl 1



A =T B 1
(C) 2 - (D) O

42, famgatl (7,-4)au (-5, 1) F 9 F gt B
(&) 12 ErS
(C) 15 | (D) 16
Distance between the points (7, -4 ) and (-5, 1) is
(A) 12 (B) 13

(C) 15 - (D) 16



ATEN

a 12 & (B) 13

-

(C) 15 (D) 16
43. g fagafag (x y)F A 2

(A) x*+y° B {x2 + 2
S/
€ Yx*+y (D) yx?-y?
X/QTR/473
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(C) Botﬁféfbjngruent and similar (D) None of these

46. mﬁ?ﬂaﬁaﬁqﬁy@ﬁﬁw@?ﬂ%%ﬁmﬁa—m,mé

X/QTR/473 Page 17



(D) nonc ol the€sc

(C) both cofigriient and similar

&

47 v&@ﬁwﬁwgm%mﬁmﬁ@hﬂmﬂmamm
ST & i gt €1 78 fhg wia w1 FUA & ? |

Muﬁw (B) WTSATIIE W
(C) &\ 7wy .. (D) Ted fag WA

If a line i |
is drawn parallel to one side of a triangle, then the other



(A) Thales cm

(B) Pythagoras theorem
(C) Heron's theorem | (D) Mid-point theorem

18. AABC H, DE | BC €=l a1 8.5t AB 31R AC %l HSI: D ¥ E W 9k

AD
waﬁ%?h.@=

A) == B) Zs



(C) Heron's@rem | (D) Mid-point theorem
18. AABC ¥, DE | BC €H1 9T 8.5t AB 3R AC 1 %H9: D 4T E W Wft

AD
W%T’ﬁ FB-=

() 2% (B) =L

AC AC

2L e (D) W ¥ B 7



AE
EC

(UJ INOILITC UL uavew

(C)

49 AABC ~ ADEF q¥1 £ZBAC = AEDF Q 45 AC

DE EF
(A) EF (B) DF
DF

(or B . o 2

AR



(A) 4-2'em
(B) 3:-1 cm

(C) 2:8 cm
(D) 2-1cm

51. afe ga 1 aRfyy 88 At € A guhT BB @

(A) 308 T2
_(B616 qrft 2

(C) 1232 At
(D) 626 H >,

If the ci fe
rcum ircle
rence of a circle is 88 cm, then its area is



- _...0 \DJ i GZT:

(C) 2nr + 2r (D) n=nr

53. 3sec?30° +4tan245° =

(A) 3 | (B) 7
5 . (D) ¥ & Y 7
X/QTR/473
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e @usg —-d / SECTION - B

g ITiauyd / Short Answer Type Questions
o7 G 1 @ 20 A% oy g 1 el 10 quel & I 1 GeAE @ fe17 2
REiRd & :  10%x 2

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. .

question carries 2 marks : 10 x 2

1. gfeere favem e 6t werEd | 135 7 025 %1 HoHo F1d il



Wﬁguﬁﬁmﬁmﬁ 135 qUT 225 I HoHO FTd il

Find the H.C.F. of 135 and 225 with the help of Euclid's Dix

Algorithm.

7429 I 38 WW%W%wﬁmﬁl

Express 7429 as a product of its prime factors.

A TEAl H Todo qYUT WoHo FHAW: 26 AT 91 %I uﬁiﬂﬁﬁ U
182 B d1 gl T T i

—— — g * vl £ i on smassesalaroe OPDOA Qﬂd Ql reSDeCtiVCIY° If



The LCM and HCF of two numbers are 26 and 91 respectively. If

the numbers is 182 then find the other number.

1365@%9@@1@%&?1131?13@%{@%%31@1

32 YTH &l ?

By what number should 1365 be divided so that quotient to be ok

is 31 and 32 as the remamder ?

ST G — S R 10371331111%%“9@%%:%5



tively. 11

fand HCF of two numbers are 26 and 91 respec

the numbers is 182 then find the other number.

136sﬁmmém%mma&qﬁaﬁ%ms1aﬂt

32 3T & ?
By what number should 1365 be divided so that quotient to be ok

is 31 and 32 as the rema.mder ?

a9 9< G@A Fd Hi EH 245 QI 10371?134111%?(111:;@%@:%%
5 g9 |



(110 ] e

6. WEIE x2+x-6 P YIS T
Find the zeros of the polynomial x2+x-6.
7. qﬁ*@ﬁ p(x)=3x3-5.x2 ~11x -3 @ p(—l)Wfﬂﬂ'ﬂlﬂﬁl

If polynomial p(x) = 3x3 -5x2 —11x -3 then find the value of pl

5. YR T T x4 y = 14 T x— y = 4 F e Fify & &1 B



O, uUdEW vﬂw ISR Y A= LSS U o U Ao e TAN / VR SN U e

Solve the pair of linear equations x + y = 14 and x = Y = 43

substitution method.

9. 3fg tan9=27i?ﬁsec9'dﬁncosec9ﬁqﬂﬁlﬁﬁl

If tanb = 24 , then find the value of sec 6 and cosec 0.

7

10. sin O T HH cot O & ®J H q<h il



10. smew@ote%mﬁ I B

Express the value of sin 0 in the form of cot .

11. Ife Tuepivl IS ABC ¥,ZABC = 90° @t sin ZBAC QYT sin ZACB &1 1
F1|

If in right angled triangle ABC, ZABC = 90°, then find the val
sin ZBAC and sin ZACB.

17 &7?#( ~ A\ =rarr [ N Ay 0y oy e e TN a0 N




ar aaa aagma $BAVM MUIAMEALV ALV v = TV S Tiaenennar therval
sin ABAﬁd sin ZACB.

12. famgati (- 6,-4) 7w (9, - 12 ) % = A g Frerad

Find the distance between the points (- 6, — 4 Jand (9, - 12 ).

X/QTR/473 Page 2
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| #id 379 999 / Long Answer Type Questions

gy G 21 @ 28 % " Iahg gl a4 gya)‘a;mé/uﬁmé;ﬁ-‘m
fRuifa & : 4 x 5

Question Nos. 21 to 28 are Long Answer Type. Answer any 4 questions.

: : 4 x ¢
question carries 5 marks !

215 cosG%WﬁmﬂﬁaﬁWﬁmﬁmﬁzﬁﬁEﬁﬁl

TNeccccsmmem A~ la Af tlha beimvnct ncmmabuian]l eanbine ;n fhp fnrm Of COS 9'



ions.

Question Nos(gg\) to 28 are Long Answer Type. Answer any 4 quest4 4
- X

question carries 5> marks :

215 coseaiﬁqﬁmﬁﬁﬁ“ﬁ?ﬁ'ﬂﬁw%ﬁﬁ%ﬁl

Express each of the trigonometrical ratios iﬁ the form of cos 9.
22. U9 THY & HYA & fod we fag |

State and’prove Thales' theorem.
23. Sita & 6 gl (3, 1), (6, 4) 721 (8, 6 ) THEH B

Verify that the points (3, 1), (6,4 ) and ( 8, 6 ) are collinear.



o Wo  BTITCREITIANE NITERIAATL T VL AIMTHMITTU IMIM ST QXL YN,
2l ey T G
X Y x Y

Solve the following pair of equations by substitution method :

24313 and! 2 =545 22
5 ) XY

25. fﬁzm%%@i( aa),(-a —a)adl (.-@a,ﬁa)ﬁwiﬁ?j
M 2|

Prave that fhe nt_\intg (5 y s e 1) L f K5 0o

-—— — W

{2
I
]
)

j

L
)]
3




T

26. WEIG 6x2-7x-3 & Y6 A€ i e YR A Uil % efte HEEC
S | 2

Find the zeros of the polynomial 6x2 —7x -3 and verify the relatior

between the zeros and coefficients.

27. S ABC #®,DE | BC q AD = ((4x - 3 ) @Hl, AE = (
BD=(3x—1)ﬁtﬁaﬂtCE=(5x—3)ﬂTﬂ,a‘rxaﬂm33rmaft'l

In AARC._DE | _RC and AD = ( 4Xx - 3 ) cmiE =

—_— —_— =y




T e - sep =T
US> 19§ '

L oglees
- 4&Wﬁﬁfmﬁ%ﬁﬂgﬂﬁ%r#/

a:bz+&
Q25=135Y1+49Qv

"Wy ED
‘gg;QDN'{'U‘§

>y 23U
| qv:y§ﬁ1+o
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18
@ S I

. :1(24— A-b=0
gy —oy —b=0

o (oLt+3) —?,LOL*‘@) co

ti—%g) ‘ Lacr—’L) =5
(:‘ St= =3, ‘Lj@

@ ooply = 1% ox% -3

e« afeddreEnt

1Y =179



@ P(x) = 313_5“1‘1'.-111-—3 |
L el =3 ESEY e
=pgd] =&y | Hll=3
= =0 =53
= wSR A

—

| PL) =0k,
| ’fﬁ?ﬁ_‘?@ T‘é)r/
1y ——/

o #5Y. =
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i x

as = MU~ T

35 +SH =Y
.._g,g( - Y 9

—

@ e ut=™
= S"‘J
e = 8 S
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o
TA AT NN =80

QLR = 132
Q/@gw =132 464 3

L&:Qlcmj

=% 490
7 o

o ~68
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